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IELTS Writing Task 1 

In the first part, you are given a task based on some graphic or 
pictorial information. You are expected to write a descriptive report of 
at least 150 words on the information provided. 
 
 

IELTS Writing Task 2 

The second task is more demanding. You are expected to produce a 
written argument on a given topic and to organise your answer 
clearly, given some examples to support your points. You will have 
to write at least 250 words and, as Task 2 is longer than Task 1, you 
are advised to spend approximately 40 minutes on this task and 20 
minutes on the first task. 
 

 

 

 

 

 

 

 

 

 

 

 



IELTS Sample Charts (IELTS Writing Task 1) 
 

Example 1  :  You should spend about 20 minutes on this task. 

The diagram illustrates how bees produce honey. 

Summarise the information by selecting and reporting the main features, and make 

comparisons where relevant. 

 

Write at least 150 words. 

  

 

 

 

 

 

 

Nectar: a sweet liquid produced by flowers 

Hive: a container where bees live 

Evaporation: water changing to gas 

 

 

 

 Model answer 

The diagram shows the seven most important stages in the making of honey by bees. The process 
begins with the honey bees building a hive, and then finishes when the honey is ready to be collected 
and used. 

Firstly, the bees have to build a container. This is called a hive and it consists of many individually built 
cells. Next, the bees leave the hive in order to search for flowers. When they find a suitable flower, they 
collect the nectar from it, which is used to make honey. 

The nectar is then taken back to the hive where the production process can begin. First, it is put into 
cells. Then, following this, the nectar must be cooled down. In order to do this, the bees fan the nectar-
filled cells with their wings. As a result, the nectar loses its water content and then finally, the honey is 
produced. 

(150 words) 

 



Example 2  : You should spend about 20 minutes on this task. 

The bar chart below illustrates five different industries’ percentage share of Brazil’s 

economy in 2009 and 2019 with a forecast for 2029. 

Summarise the information by selecting and reporting the main features, and make 

comparisons where relevant. 

 

Write at least 150 words. 

 

 

 

 

 

 

 

 

 

Model answer 

The bar chart shows the actual and projected share of the economy of Brazil held by the five 
key business sectors for the years 2009, 2019 and 2029. 

Beginning with the real figures, the sectors that saw growth between 2009 and 2019 are 
Finance, Fossil Fuels and Food Processing with rises of around 5 percent for the two former 
and around 10% for the latter. However, both Tourism and Manufacturing saw falls of around 
5% for that period. 

Turning next to the projected figures for 2029, only the Finance sector is predicted to see a 
continued growth in 2029, again by 5%. Of the remaining sectors, tourism stays at 2019 
levels with around 21% and both Food Processing and Oil, Coal and Gas return to 2009 
levels (11 and 26% respectively). Meanwhile, Manufacturing sees a further drop in its share, 
falling by a further 10 percent to around 5 percent. 

Overall, for the period covered, the Finance sector stands out in terms of having the largest 
share of brazil’s economy and its share shows continued growth. The big loser is 
manufacturing, which starts as the joint smallest sector and sees both real and projected falls. 

(195 words) 



Example 3  :  You should spend about 20 minutes on this task. 

The chart below shows the movement of people from rural to urban areas in three 

countries and predictions for future years. 

Summarise the information by selecting and reporting the main features, and make 

comparisons where relevant. 

 

Write at least 150 words. 

 

 

 

 

 

 

 

 

Model answer 

The line graph shows the figures in millions for the migration of people from the countryside to 
cities in three different countries over the period 2000 to 2025, including future predictions. 
Overall, it is clear that the shift from rural communities towards urban metropolitan areas is 
upwards. 

All three countries began the period with similar numbers of urban migrants. Russia started 
with the most migrants (around 15 million) and over the period sees significant increases, 
particularly between 2010 and 2015 (around 42 to 70 million) with this upward trend predicted 
to continue (reaching approximately 86 million by 2025). Similarly, Iran after a slow start 
between 2000 and 2005 sees a dramatic rise in urban migration, and after 2015 is predicted 
to see an even more dramatic increase, surpassing Russia’s figures in 2020 reaching around 
95 million by 2025. However, Indonesia bucks the trend somewhat. Whilst consistently steady 
between 2000 and 2020, its growth is far less dramatic than the other two countries (10 to 30 
million). Furthermore, post 2020, it is predicted to level off at around 30 million. 

To sum up, while all three countries have seen growth up to 2015, only the figures for 
countries Russia and Iran are predicted to see continued growth up to 2025. 

(209 words) 

 



IELTS Sample Charts (IELTS Writing Task 2 ) 

Example 1  :  You should spend about 40 minutes on this task. 

                 Write about the following topic: 

In the past, most people used to travel to their place of work. With increased use of 

computers, the internet and smart phones, more and more people are starting to 

work from home. 

What are the advantages and disadvantages of this development? 

Give reasons for your answer and include any relevant examples from your own knowledge 
or experience. 

Write at least 250 words. 

 

Model answer 

The way in which we work has changed a great deal in recent years. Whilst some people still 
travel to their place of work each day, others have the option to work from home. This has all 
become possible since the birth of the internet and smartphones, which enable workers to be 
in constant contact with their colleagues and clients all over the world. 

There are both advantages and disadvantages to this new development. There are def inite 
advantages to people being allowed to work from home. The main advantage is that it gives 
workers more flexibility in their working lives. This can be particularly useful for parents or 
people who live far from their workplace. Working from home is also more comfortable - you 
can take a break whenever you need. Another advantage is that you have the possibility to 
work for companies in other countries through the use of the internet. Therefore, people can 
apply for jobs globally as well as locally. 

On the other hand, working from home can also have its disadvantages. Travelling to work 
and working in an office with others can be a very sociable activity which many people enjoy, 
especially if they live on their own. Without this social interaction many people might feel very 
lonely. Furthermore, many people may lack sufficient discipline to complete the work they 
need to do without colleagues around. 

In conclusion, therefore, there are clearly advantages and disadvantages to working from 
home. Perhaps the ideal arrangement would be to spend part of the working week in an office 
with colleagues, and part of the working week at home, with a certain amount of flexibility and 
comfort. 

(277 words) 

 



Example 2  :  You should spend about 40 minutes on this task. 

                 Write about the following topic: 

In many societies in the world, the population is ageing rapidly and this is leading 

to an unsustainable increase in the cost of public healthcare. 

A nation’s population should pay for their healthcare provision in the future. 

To what extent do you agree or disagree? 

Give reasons for your answer and include any relevant examples from your own knowledge 
or experience. 

Write at least 250 words. 

 Model answer 

Advances in medical science are resulting in prolonged lifespans but there is a knock-on 
effect for public health services with many hospitals struggling to cope with an aging 
populace. Many countries enjoy the benefits of free or subsidised national public health 
services. However, there are some within senior health management who claim that such 
provision will become unsustainable, and I firmly agree that changes need to be made in 
order to reflect this changing reality. 

Despite the notion that healthcare should be 'free', such care is predominantly funded by the 
taxpayer. To give a specific example, a recent report in my country established that almost 
40% of the nation’s tax spending is distributed to healthcare and some 80% of that figure is 
reserved for treating the elderly. This is a disproportionate amount of money which has 
greatly increased the burden on the state and existing funding is no longer sufficient to meet 
these needs. This is turn impacts on the standard of care that can be provided as shown by 
numerous negative media reports about the conditions for both staff and patients. If we want 
quality healthcare then, clearly this financial burden needs to be alleviated. 

One way to do so would be to increase the contributions made by citizens through increased 
taxation. Alternatively, governments could encourage those who can afford it to take up 
private healthcare arrangements. By switching to a private model, the well-off can afford a 
higher quality of care, while at the same relieving pressure on public services for those who 
do not have the means to go private. 

One thing is for certain, an ageing population has increased the pressure on existing health 
provision. If we are going to maintain the standards of healthcare that we are used to, more 
funding needs to be found either through taxation and alternative forms of provision should be 
considered. Otherwise, standards will fall and people’s lives will be put at risk. 

(323 words) 


